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http://www.investopedia.com/terms/i/index.asp
http://www.investopedia.com/terms/p/portfolio.asp
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http://www.investopedia.com/terms/i/ipo.asp
http://www.investopedia.com/terms/n/nyse.asp


 

https://en.wikipedia.org/wiki/Stock_market
https://en.wikipedia.org/wiki/Stock
https://en.wikipedia.org/wiki/Weighted_arithmetic_mean
https://en.wikipedia.org/wiki/Investor
http://www.investopedia.com/university/stocks/stocks3.asp
http://www.investopedia.com/terms/p/perceived-value.asp


 

http://www.investopedia.com/walkthrough/corporate-finance/4/capital-markets/average-returns.aspx
http://www.investopedia.com/terms/b/basket.asp


 



 



 

 

  

  

 

 

 

 

 

 

 

 

 

 



 

• 

• 

• 



 

 

 



 

 

- 

- 

- 



 

- 

- 

http://www.investopedia.com/terms/f/financial-market.asp
http://www.investopedia.com/video/play/systematic-risk/
http://www.investopedia.com/terms/r/recession.asp
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Ht CC′ A′εt−1εt−1
′ A + B′Ht−1B + D′ηt−1ηt−1

′ D

h11,t h22,t h12,t

ρ12,t =
h12,t

√h11,t .  h22,t

ρ12,t

wt
12 =  

ht
2− ht

12

ht
1−2ht

12+ ht
2

wt
12 = {

0 if wt
12 < 0 

wt
12 if 0 ≤ wt

12 ≤ 1

1 if wt
12 > 1

wt
12

ht
12

wt
12

RP W1,tR1,t W2,tR2,t

http://www.investopedia.com/terms/w/weighted.asp


 

σP,t
2 =  W1,t

2 σ1,t
2 W2,t

2 σ2,t
2 2W1,tW2,tCov(R1,t, R2,t)

Cov(R1,t, R2,t) ρ12,tσ1,tσ2,t

 

 

R1 R2

σ1 σ2

ρ12

W1 W2

 

RP W1R1 W2R2

RP (0.65 x 19%) 0.35 x 21%)

RP 12.35%

 

σP
2 =  W1

2σ1
2 W2

2σ2
2 2W1W2Cov(R1, R2)

Cov(R1, R2) ρ12σ1σ2

σP
2 =   (0.652 𝑥 142) +  (0.352 𝑥 162) +  (2 𝑥 0.65 𝑥 0.35 𝑥 0.75 𝑥 14 𝑥 16)



 

σP
2 =   82.81 +  31.36 +  76.44

σp =   √190.61
2

σp =   13.81%
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http://www.thebrilliantclub.org/
https://portal.thebrilliantclub.org/sign-in
mailto:schools@thebrilliantclub.org
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